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31,600 A/ A x188/H x 120 A = | 6,825,600 [
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55,200 F9/ A X 0.5 A x 2[6] = | 55,200 F
4 EXBEHEHE
158 /L X 2.7L/h X 2h+195F /h x 2h+1010F/B X 1H = 2,253 /&8
g BRGESR) B8R
2253 F/&-HA x 188/ A x 120 B = \ 486,648 M
5 e
6,825,600 X 5/1000= 34,128 M
@
6 HEE
( 6825600 + 55200 ) x70/100= | 4,815,688 M
® @ (i REHY)
7 B2 &
( 6825600 + 55200 ) X 170/100 X 10% = | 1,169,736 M
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( 6825600 + 55200 + 486648 + 34128
@ @ ® @
+ 4815688 + 1169736 )= | 13,387,000
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9 SHERME L%
13,387,000 x 10 %= \ 1,338,700
@
10 EBES
13,387,000  + 1,338,700 = 14,725,700
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